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SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H H &2
B 349,726 350,754 21,028
BHEIS =0 MHA SS235 115,106 114,226 880
BE1S FoMaxe 115,106 114,226 880
BHE1S FOEO#E 58,280 55,100 3,180
301 Yt A2 58,280 55,100 3,180
05 S -01% - stassay 57,380 54,100 3,280
OS&4¢ A 38,400,000 38,400 36,000 2,400
OS&EANS 23X 6,400,0002 6,400 6,000 400
OSHE35| o &ML A 7,680,000 7,680 7,200 480
09 BAIAIHI B A2 900 1,000 A100
Ous % AL & AR AHL24
23 900,000 900 1,000 A 100
BHEIS #AX 33,530 35,680 22,150
201 LBt 14,850 16,500 A 1,650
01 AL 22| H 10,350 11,500 21,150
Ot 2 23 8,100,000 8,100 9,000 A900
o2g94¢ A= 1,350,000 1,350 1,500 A150
oOxgdx2 23 900,000 900 1,000 A 100
02 2229 4,500 5,000 A500
oREe= A= 4,500,000 4,500 5,000 A 500
202 04| 17,100 19,000 A 1,900
01 2o 17,100 19,000 21,900
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01 ML 2EFEY| 1,580 180 1,400
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BEis A2 2l X 1,350 1,500 A 150
201 LBt 1,350 1,500 A 150
02 2229 1,350 1,500 A 150
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A& 1,350,000 1,350 1,500 A 150
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